80

70

60

50

40

30

20

10

2
i
(o))
o™
[e0]
AN
<
(]
oo

= 1
(a
e
2
pr)
@
o

0.5

Rivet 3.1.10, = 1.4M events

7000 GeV pp Top (parton level)
:| ' T ' T ' T ' T ' | ' T T ' I ' T ' |:
- Ay (ttbar) —
L _.g-- Pythia 6.428 391 .
[ - <~ Pythia 6.428 393 T
~  --e-- Pythia 6.428 394 ]
- v Pythia 6.428 395 ]
- g"%gg -
- & —
- ¥ 7 0k B
N C ]
- B i -
— o m® —]
N i e .
- i e 7]
[ [ g‘ ]
- s ] —
~ 2 (MC_FBA TTBAR) o
q-ew-h-“*!’?'ﬁ — Fﬁﬁh"""ﬂ"*“ﬁ
i v L =
Sivg AT
Ryt ¥ “one, -s??’ - =
C ol e *Sasansennannsnne?? ‘l i
B P -

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


